		S & L Underground, Inc.		Speedway Sand & Gravel, Inc.	Parisi Construction, LLC	onstruction, Fxcavating &		R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
Section B: Proposal Page								
10701 - TRAFFIC CONTROL - LUMP SUM 10702 - TRAFFIC CONTROL FOR STORM SEWER INSTALLATION - LUMP	1.00	\$3,838.38	\$3,838.38	\$3,800.00	\$2,800.00	\$2,750.00	\$3,800.00	\$3,800.00
SUM 10704 - TRAFFIC CONTROL FOR SANITARY SEWER INSTALLATION -	1.00	\$505.05	\$505.05	\$500.00	\$1,600.00	\$1,560.00	\$500.00	\$500.00
LUMP SUM 10713 - TEMPORARY CROSSWALK	1.00	\$505.05	\$505.05	\$500.00	\$1,400.00	\$1,325.00	\$500.00	\$500.00
ACCESS - EACH 10730 - PROJECT INFORMATION SIGN -	2.00	\$847.00	\$1,694.00	\$1,560.00	\$360.00	\$350.00	\$1,452.53	\$1,686.00
EACH 10770 - MAINTAIN RESIDENTIAL	2.00	\$80.00	\$160.00	\$80.00	\$77.00	\$75.00	\$80.00	\$80.00
DRIVEWAY ACCESS - EACH 10801 - ROOT CUTTING – CURB &	4.00	\$864.00	\$3,456.00	\$650.00	\$99.00	\$100.00	\$1,257.42	\$576.00
GUTTER (UNDISTRIBUTED) - L.F. 10802 - ROOT CUTTING – SIDEWALK	20.00	\$10.00	\$200.00	\$0.01	\$9.90	\$30.00	\$6.00	\$0.10
(UNDISTRIBUTED) - L.F.	20.00	\$10.00	\$200.00	\$0.01	\$9.90	\$30.00	\$6.00	\$0.10
10911 - MOBILIZATION - LUMP SUM 10912 - MOBILIZATION FOR STORM	1.00	\$59,452.00	\$59,452.00	\$69,660.00	\$192,000.00	\$130,000.00	\$200,000.00	\$119,445.95
SEWER INSTALLATION - LUMP SUM 10914 - MOBILIZATION FOR SANITARY	1.00	\$2,000.00	\$2,000.00	\$2,800.00	\$500.00	\$1.00	\$12,840.00	\$7,500.00
SEWER INSTALLATION - LUMP SUM 20101 - EXCAVATION CUT	1.00	\$2,000.00	\$2,000.00	\$25,000.00	\$500.00	\$1.00	\$20,130.00	\$7,500.00
- C.Y. 20110 - TERRACE EXCAVATION FOR	3955.00	\$21.70	\$85,823.50	\$36.90	\$28.00	\$31.00	\$34.14	\$42.00
TREE PLANTING - C.Y. 20130 - UNDERDRAIN - L.F.	116.00 245.00	\$53.80 \$16.00	\$6,240.80 \$3,920.00	\$75.00 \$20.40	\$65.00 \$20.00	\$50.00 \$27.00	\$86.99 \$20.44	\$105.50 \$31.00

		S & L Unde	erground, Inc.	Speedway Sand & Gravel, Inc.	Parisi Construction, LLC	Integrity Grading & Excavating, Inc.	Capitol Underground, Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
20140 - GEOTEXTILE FABRIC TYPE SAS (NON-WOVEN) - S.Y. 20141 - GEOSYNTHETIC REINFORCEMENT FABRIC	875.00	\$2.00	\$1,750.00	\$2.56	\$2.00	\$1.21	\$3.29	\$2.50
(UNDISTRIBUTED) - S.Y.	200.00	\$7.00	\$1,400.00	\$6.47	\$3.20	\$2.64	\$10.93	\$8.00
20217 - CLEAR STONE - TON 20219 - BREAKER RUN	1245.00	\$15.10	\$18,799.50	\$9.35	\$21.75	\$28.77	\$5.04	\$24.00
(UNDISTRIBUTED) - TON	1390.00	\$13.30	\$18,487.00	\$15.25	\$16.50	\$24.00	\$12.28	\$22.00
20221 - TOPSOIL - S.Y.	3240.00	\$11.00	\$35,640.00	\$8.05	\$6.50	\$14.50	\$6.05	\$10.50
20302 - 10 INCH PVC SANITARY SEWER								
PIPE - L.F.	8.00	\$151.00	\$1,208.00	\$159.95	\$300.00	\$236.00	\$234.48	\$222.00
20303 - SAWCUT ASPHALT PAVEMENT -								
L.F.	300.00	\$2.50	\$750.00	\$2.10	\$2.00	\$1.95	\$2.25	\$1.95
20311 - REMOVE SEWER ACCESS								
STRUCTURE - EACH	10.00	\$1,046.00	\$10,460.00	\$570.00	\$680.00	\$1,300.00	\$756.14	\$884.00
20313 - REMOVE INLET - EACH	6.00	\$633.00	\$3,798.00	\$470.00	\$680.00	\$1,300.00	\$658.84	\$430.00
20314 - REMOVE PIPE - L.F.	626.00	\$30.50	\$19,093.00	\$86.00	\$31.00	\$46.00	\$34.73	\$43.00
20321 - REMOVE CONCRETE								
PAVEMENT - S.Y.	1280.00	\$8.00	\$10,240.00	\$1.00	\$10.75	\$6.00	\$1.08	\$8.00
20322 - REMOVE CONCRETE CURB &	700.00	\$3.00	\$2,100.00	\$4.60	\$7.20	\$7.50	\$5.32	\$7.00
20323 - REMOVE CONCRETE SIDEWALK & DRIVE - S.F. 20331 - ABANDON SEWER ACCESS	8720.00	\$2.80	\$24,416.00	\$2.27	\$2.30	\$0.82	\$3.22	\$5.00
STRUCTURE - EACH 20335 - ABANDON SEWER PIPE WITH	3.00	\$674.00	\$2,022.00	\$470.00	\$680.00	\$503.00	\$601.32	\$660.00
SLURRY - C.Y. 20336 - PIPE PLUG (UNDISTRIBUTED) -	5.39	\$1,014.00	\$5,465.46	\$1,355.00	\$380.00	\$840.00	\$867.83	\$866.00
EACH	4.00	\$295.00	\$1,180.00	\$393.00	\$120.00	\$50.00	\$632.80	\$412.00

		S & L Und	erground, Inc.	Speedway Sand & Gravel, Inc.	Parisi Construction, LLC	Integrity Grading & Excavating, Inc.	Capitol Underground, Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
20401 - CLEARING (UNDISTRIBUTED) - I.D. 20406 - GRUBBING - I.D. 20501 - ADJUST SEWER ACCESS 20503 - ADJUST INLET - EACH 20701 - TERRACE SEEDING - S.Y. 21002 - EROSION CONTROL INSPECTION - EACH 21011 - CONSTRUCTION ENTRANCE - EACH	75.00 225.00 3.00 5.00 3240.00 5.00	\$127.00 \$18.13 \$912.00 \$600.00 \$2.98 \$500.00 \$826.00	\$9,525.00 \$4,079.25 \$2,736.00 \$3,000.00 \$9,655.20 \$2,500.00 \$2,478.00	\$126.70 \$17.95 \$710.00 \$710.00 \$0.75 \$303.00	\$130.00 \$18.50 \$480.00 \$600.00 \$1.30 \$510.00	\$70.00 \$9.00 \$540.00 \$540.00 \$2.95 \$50.00	\$30.00 \$30.00 \$531.58 \$573.36 \$2.95 \$180.00	\$75.00 \$50.00 \$360.00 \$360.00 \$1.82 \$505.05
21012 - STREET CONSTRUCTION ENTRANCE BERM - EACH 21013 - STREET SWEEPING - LUMP	3.00	\$282.00	\$846.00	\$333.00	\$99.00	\$180.00	\$752.50	\$270.00
SUM 21015 - STREET CONSTRUCTION	1.00	\$3,000.00	\$3,000.00	\$4,825.00	\$6,000.00	\$32,000.00	\$4,367.79	\$11,695.00
STONE BERM - EACH 21017 - SILT SOCK (8 INCH) -	8.00	\$210.00	\$1,680.00	\$234.00	\$190.00	\$180.00	\$253.97	\$270.00
COMPLETE (UNDISTRIBUTED) - L.F. 21032 - INLET PROTECTION TYPE C -	100.00	\$7.02	\$702.00	\$6.00	\$13.50	\$6.95	\$6.95	\$8.08
PROVIDE & INSTALL - EACH 21033 - INLET PROTECTION TYPE C -	1.00	\$85.86	\$85.86	\$60.00	\$67.00	\$85.00	\$90.00	\$252.53
MAINTAIN - EACH 21034 - INLET PROTECTION TYPE C -	1.00	\$50.51	\$50.51	\$5.00	\$25.75	\$50.00	\$72.00	\$151.52
REMOVE - EACH 21049 - INLET PROTECTION RIGID	1.00	\$30.30	\$30.30	\$5.00	\$25.75	\$30.00	\$78.00	\$75.76
FRAME - PROVIDE & INSTALL - EACH 21050 - INLET PROTECTION RIGID	29.00	\$252.53	\$7,323.37	\$225.00	\$280.00	\$250.00	\$270.00	\$303.03
FRAME - MAINTAIN - EACH 21051 - INLET PROTECTION RIGID	29.00	\$50.51	\$1,464.79	\$20.00	\$25.75	\$50.00	\$54.00	\$151.52
FRAME - REMOVE - EACH	29.00	\$30.30	\$878.70	\$20.00	\$36.00	\$30.00	\$72.00	\$101.01

		S & L Und	erground, Inc.	Speedway Sand & Gravel, Inc.	Parisi Construction, LLC	Integrity Grading & Excavating, Inc.	Capitol Underground, Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
21063 - EROSION MATTING, CLASS I,								
TYPE A - ORGANIC - S.Y.	3240.00	\$1.97	\$6,382.80	\$2.25	\$2.90	\$1.95	\$1.95	\$3.00
21110 - TERRACE RAINGARDEN - S.F.	1650.00	\$10.80	\$17,820.00	\$12.65	\$18.00	\$13.00	\$20.12	\$40.00
30201 - TYPE "A" CONCRETE CURB &								
GUTTER - L.F.	3345.00	\$24.65	\$82,454.25	\$34.90	\$28.00	\$23.40	\$25.27	\$24.65
30203 - TYPE "X" CONCRETE CURB &								
GUTTER - L.F.	275.00	\$27.68	\$7,612.00	\$40.90	\$43.00	\$26.40	\$28.39	\$27.68
30208 - HAND FORMED CONCRETE								
CURB & GUTTER (TREE LOCATIONS)								
(UNDISTRIBUTED) - L.F.	120.00	\$41.62	\$4,994.40	\$38.90	\$43.00	\$39.50	\$42.72	\$41.62
30212 - SIDEWALK CURB - L.F.	110.00	\$52.63	\$5,789.30	\$47.30	\$55.00	\$50.00	\$53.76	\$52.63
30302 - 5 INCH CONCRETE SIDEWALK -								
S.F.	6500.00	\$8.17	\$53,105.00	\$5.30	\$8.00	\$7.30	\$8.40	\$8.82
30304 - 7 INCH CONCRETE SIDEWALK								
& DRIVE - S.F.	7450.00	\$8.38	\$62,431.00	\$8.70	\$9.75	\$7.90	\$9.13	\$9.43
30340 - CURB RAMP DETECTABLE								
WARNING FIELDS - S.F.	190.00	\$45.45	\$8,635.50	\$51.00	\$42.00	\$45.00	\$45.00	\$45.45
40101 - CRUSHED AGGREGATE BASE								
COURSE GRADATION NO. 1 - TON	1600.00	\$20.30	\$32,480.00	\$19.45	\$22.00	\$20.00	\$24.30	\$26.50
40102 - CRUSHED AGGREGATE BASE								
COURSE GRADATION NO. 2 - TON	2100.00	\$20.30	\$42,630.00	\$21.55	\$17.50	\$26.00	\$24.30	\$26.50
40202 - HMA PAVEMENT 4 LT 58-28 S -								
TON	835.00	\$81.97	\$68,444.95	\$84.20	\$84.00	\$81.15	\$84.20	\$85.05
40218 - TACK COAT - GAL	315.00	\$2.78	\$875.70	\$3.00	\$2.80	\$2.75	\$3.00	\$3.03
40231 - ASPHALT DRIVE & TERRACE								
(UNDISTRIBUTED) - S.Y.	20.00	\$74.60	\$1,492.00	\$35.00	\$51.00	\$50.00	\$57.37	\$61.82
40301 - FULL WIDTH GRINDING - S.Y.	480.00	\$19.70	\$9,456.00	\$15.45	\$20.00	\$19.50	\$15.45	\$15.61
50103 - RECONSTRUCT BENCH AND								
FLOWLINE(S) - EACH	2.00	\$833.00	\$1,666.00	\$987.00	\$1,200.00	\$4,300.00	\$1,854.08	\$1,725.00

		S & L Unde	erground, Inc.	Speedway Sand & Gravel, Inc.	Parisi Construction, LLC	Integrity Grading & Excavating, Inc.	Capitol Underground, Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
50211 - SELECT BACKFILL FOR STORM SEWER - T.F. 50212 - SELECT BACKFILL SANITARY	151.00	\$0.01	\$1.51	\$0.01	\$0.01	\$0.01	\$0.01	\$0.01
SEWER - T.F. 50225 - UTILITY TRENCH PATCH TYPE	2879.00	\$0.01	\$28.79	\$0.01	\$0.01	\$0.01	\$0.01	\$0.01
III - T.F. 50301 - 8 INCH PVC SANITARY SEWER	40.00	\$110.00	\$4,400.00	\$135.00	\$92.00	\$111.00	\$169.53	\$158.00
PIPE - L.F. 50353 - SANITARY SEWER LATERAL -	1523.00	\$130.00	\$197,990.00	\$148.50	\$140.00	\$157.00	\$126.69	\$158.00
L.F.	1348.00	\$83.70	\$112,827.60	\$120.32	\$31.50	\$223.00	\$38.96	\$50.50
50356 - RECONNECT - EACH 50359 - COMPRESSION COUPLING -	50.00	\$2,455.00	\$122,750.00	\$1,775.00	\$3,700.00	\$14.00	\$3,375.44	\$4,582.00
EACH 50361 - WASTEWATER CONTROL -	1.00	\$755.00	\$755.00	\$1,019.00	\$2,700.00	\$108.00	\$699.11	\$898.00
LUMP SUM 50390 - SEWER ELECTRONIC	1.00	\$600.00	\$600.00	\$2,150.00	\$6,000.00	\$24,000.00	\$8,482.80	\$7,140.00
MARKERS - EACH 50401 - 12 INCH TYPE I RCP STORM	128.00	\$92.00	\$11,776.00	\$32.00	\$120.00	\$0.01	\$25.17	\$83.00
SEWER PIPE - L.F. 50403 - 18 INCH TYPE I RCP STORM	59.00	\$112.00	\$6,608.00	\$83.89	\$120.00	\$119.00	\$104.83	\$156.00
SEWER PIPE - L.F. 50432 - 12 INCH TYPE II PAVEMENT	34.00	\$109.00	\$3,706.00	\$97.83	\$120.00	\$132.00	\$115.38	\$161.00
STORM SEWER PIPE - L.F.	58.00	\$112.00	\$6,496.00	\$83.89	\$130.00	\$115.00	\$104.83	\$156.00
50499 - CONCRETE COLLAR - EACH	2.00	\$638.00	\$1,276.00	\$1,200.00	\$540.00	\$740.00	\$886.02	\$1,915.00
50701 - 4' DIA. SANITARY SAS - EACH	8.00	\$5,000.00	\$40,000.00	\$5,964.00	\$6,200.00	\$4,600.00	\$5,789.24	\$4,645.00
50741 - TYPE H INLET - EACH 50771 - INTERNAL CHIMNEY SEAL -	9.00	\$2,807.00	\$25,263.00	\$3,661.00	\$4,400.00	\$5,200.00	\$3,720.44	\$3,175.00
EACH	2.00	\$566.00	\$1,132.00	\$645.00	\$720.00	\$400.00	\$739.78	\$610.00
50791 - SANITARY SEWER TAP - EACH	2.00	\$1,490.00	\$2,980.00	\$1,085.68	\$5,700.00	\$4,430.00	\$1,633.83	\$1,477.00

		S & L Unde	erground, Inc.	Speedway Sand & Gravel, Inc.	Parisi Construction, LLC	Integrity Grading & Excavating, Inc.	Capitol Underground, Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
50801 - UTILITY LINE OPENING (ULO) - EACH 60801 - PAVEMENT MARKING EPOXY,	20.00	\$700.00	\$14,000.00	\$360.00	\$810.00	\$1,400.00	\$765.93	\$715.00
DOUBLE LINE, 4-INCH - L.F. 60812 - PAVEMENT MARKING EPOXY,	100.00	\$2.42	\$242.00	\$17.50	\$1.00	\$2.40	\$4.20	\$1.01
CROSSWALK, 6-INCH - L.F. 60816 - PAVEMENT MARKING EPOXY, CONTINENTAL CROSSWALK, 18-INCH -	700.00	\$10.61	\$7,427.00	\$7.00	\$16.25	\$10.50	\$12.00	\$15.91
L.F. 60818 - PAVEMENT MARKING EPOXY,	200.00	\$20.35	\$4,070.00	\$18.00	\$27.50	\$20.15	\$19.00	\$26.87
STOP LINE, 24-INCH - L.F. 70101 - FURNISH AND INSTALL	25.00	\$22.73	\$568.25	\$18.00	\$17.50	\$22.50	\$23.00	\$17.17
STYROFOAM - EACH 70104 - ADJUST WATER VALVE BOX -	2.00	\$138.00	\$276.00	\$206.00	\$150.00	\$64.00	\$186.62	\$440.00
EACH	1.00	\$675.00	\$675.00	\$345.00	\$460.00	\$525.00	\$428.73	\$300.00
90001 - REMOBILIZATION - LUMP SUM 90010 - PERMEABLE ARTICULATING	1.00	\$1.00	\$1.00	\$150.00	\$500.00	\$1.00	\$17,400.00	\$100.00
CONCRETE BLOCK (P-ACB) - S.F. 90011 - POLYMERIC SAND GAP FILLING	3839.00	\$36.70	\$140,891.30	\$40.70	\$20.00	\$24.00	\$56.49	\$44.00
- L.F. 90020 - FURNISH & INSTALL SOLAR- POWERED RECTANGULAR RAPID FLASHING BEACON-POST MOUNTED	747.00	\$4.60	\$3,436.20	\$6.70	\$7.70	\$5.00	\$5.00	\$11.50
SYSTEM - LUMP SUM 90030 - REMOVE SANITARY	1.00	\$11,929.00	\$11,929.00	\$14,750.00	\$20,600.00	\$14,750.00	\$13,153.34	\$9,075.00
STRUCTURE STEPS - EACH 90031 - RELOCATE WATER SERVICE	2.00	\$105.00	\$210.00	\$456.00	\$450.00	\$1,100.00	\$345.48	\$595.00
(UNDISTRIBUTED) - EACH	4.00	\$1,340.00	\$5,360.00	\$1,500.00	\$3,600.00	\$5,000.00	\$2,040.00	\$1,475.00
93 Items	Totals		\$1,510,783.27	\$1,693,174.42	\$1,706,404.90	\$1,805,604.98	\$1,840,997.63	\$1,980,729.69